41113 OPEN UNIVERSITY OF SRI LANKA
BACHELOR OF MANAGEMENT STUDIES (BMS)
DEGREE PROGRAMME

LEVEL 4

ASSIGNMENT TEST - 2011

MACRO ECONOMICS ~ MCU 2207

DURATION - 2 HOURS

DATE: 05™ JUNE 2011 - TIME: 10.00am ~ 12.00 noon

Instructions

Answer any two (2) questions. All questions carry equal marks.

(1) a) “The government from time to time change its fiscal & monetary policy
stance in achieving macro goals, however proper policy mix is vital for a country to
have a stronger macro foundation™ Discuss, taking Sri Lankan economy as an
exampie.
(30 marks)
b) Distinguish between
i) Gross Domestic PIOdUCL (GDP) and Gross National Product (GNP).
it) Out put approach and Income approach in National Income Accounting.
iii) ~ Consumption Function & Saving Function.
(20 marks)
{Total — 50 marks)

(2) a) What is meant by two sector circular flow of income (with out savings)? Explain
' using a diagram. How will you introduce saving & investments into the circular

flow? ) ‘
(10 marks)
b} Details of a three sector economy, given as '

C = 80 + 8y, (Consumption)
[ = 68 (Investment Expenditure)
G = 72 (Government Expenditure)
Figures i Billion Rupees
i) What is the saving functjon of this economy?

(2 marks)
ii)  Calculate the equilibrium level of National Income

(3 marks)

iii) Suppose the government introduces an autonomous tax of 10 billion (T = 10),
find the new equilibrium level of National income.
Calculate the tax multiplier. '

(6 marks)
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(3)

a)

b)

c)
d)

V)

vii)

viii)

D

iv)

_If government introduces an income tax of 10% in addition to the autonomous

taxes and also transfer payment of 5 billion (TR = 5), calculate the new
equilibrium level of National Income.
(6 marks) ’

Suppose government opens up the economy and following changes take place.
m = 32 + 0.2y (imports)
X = 48 (expoits)

Find the equilibrium level of National Income.
Calculate the expenditure multiplier.
(8 marks)

- How will the appreciation and deprecation of Sri Lankan rupee affect the

imports and exports? Explain.

(10 marks)
What is meant by imputation? Explain.
(05 marks)
(Total marks — 50)

What is meant by; IS curve & LM curve?
Explain why the IS curve is negatively slopped and LM curve is positively
slopped? (10 marks)

Using IS-LM framework, éxplain how the following given situations influence the
income level and the interest rate of a country. (Use illustrations)

i)
ii)
iii)
v}
v)

Central Bank reduccs the inter bank lending rate.

Government increases the tax rate.

Government increases its expenditure. :

Central Banks sells Bonds & Securities in the Open market.

Central Bank increases the reserve requirement of Commercial Banks.

' (20 marks)

What is meant by Partial Crowding Out affect? Explain using illustrations. (8 marks)

What is meant by Liquidity Trap? In Liquidity Trap, what policies are the most
effective? Explain using illustrations. - (12 marks)

(Total — 50 marks}
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